Efficiency vs P,

10.02
o
9.018
>
$.016
] E
D.014f
) C
0.012F
0.01F
0.008F
0.006F
0.004
0.002

Ratio

=0.02
[
.018
(8]
9.016
5}
$.014
()
0.012
0.01
0.008
0.006
0.004
0.002
| SRR

Ratio

.........................

.........................

1.0

=
T T

fake+duplicates vs P,

Take+auplicaies rate vs p

Ratio

A

0.8

0.6

0.4

0.2

...............................................

+ a4 ||
TV T 1T

.........................................

........

.......

...........

..........

Efficiency vs ¢

o0.05¢
2] :
2.045F
2 :
50.04F
o .
.035E
o :

0.03F
0.025E

0.02F
0.015F

0.01
0.005:

Ratio

1.0 H

||'-|||

take+duplicates rate vs n

Ratio

o
o)

o
»

©
N

[ fake+duplicates vs o]

take+duplicates rate vs @

Ratio

0.8

o
3

o
o))

o
o

o
»

©
w

©
N

..................................................

...............................

track @



	Contents
	Page 1


